‘opiaiala jap 0jsal |2 esed sopewsa A 3jqiuodsip uadal

seW |e5alWL 213D |€ sopeBuanap sosaldu) so| e uspuodsalod sapodw) 5012

‘sopeduanap sosaJdul 0| 9p 2|(elu0I ojuaLIoW |8 uapuodsaliiod sapodw| soT T

4071 - sosasd3 ap sopeynsay
OHO 73 30 VYN VINVS 30 HOIHIdNS 0JI9QT1ONIIL OLNLILSNI

SE'009'ESE'ST 78'000°LES'TT BT TSLTLV'TT 91864 26L'TL LLEER'ESB'BT 000 (z+1=€) sosa.33 ap opeyjnsay [2p |eI0L “E
000 00’0 000 00’0 000 000 exnand epnag 'l
000 000 000 000 000 o000 sauopeuody A sauopedionied H
000 000 000 000 000 000 53UDISIADI4 SEND A SEIBIUBUL SBUDISIBAL] D
000 000 000 D00 000 000 ed|jqnd ugisiaaul 4
000 00°000'02 000 00°000°02 (1)1 000 sa|qiduelu) a sa|ganwu| ‘'sajganiy saualg 3
000 000 ooo o000 000 000 sepnAy Sen0 A SOIPISgNS ‘sauojeudisy ‘sepualajsuel g
LT'869'805 00°£Z8'T0S 59'96%'T18 LS'SDE'SLL 09'LYL'86L 000 S3|BJBUDD SOIIMAS D
EL'TBS'EEL 00'2ZSLLZE LO'D0T'BLE 00'658'96Z 00'255'66€ 0oo sonsiuwns A sajeuaie g
00°00t'9L0TT 09°£18'6550T 67 1TZ'79L'6 SE'LZ9'7S6'R O0'ES6'6LE'S 000 59|BUOSIA SOIAEBS Y
00°089'80E'ZT 09°96€'605'TT 1Z°806'S6'0T Z6'T6L'9¥0°0T 09'252'845°0T 000 (1+H+D+4+3+Q+2+8+V=Z) Opeianbpi3 o1seD ‘7
ooo 000 000 000 000 000 ealgqnd epnag i
000 000 000 000 000 000 sauopeundy A sauopedpiied H
000 000 000 000 000 000 S3UOISINDI4 SE0 A SEIaDUBLL SAUOISIaAL| "D
000 000 000 000 000 000 e3)|gnd UoIsIaAul 4
00'00E €T 7Z'S058E 09'v62'TL 16'589'SY8'T 00'0ET'8ET 000 sajqiuelu| @ s3|ganwL] ‘sajqaniy sauslg 3
00'SLE'PET 00'009°€ST 00°'D0E'68T 00°0SEELT 00°00T ¥91T 000 sepnAy senQ A solpisqns ‘saucpeudisy ‘sejpualajsuell  °g
88 E6V'6RE'T SLEIE'TLLT L 695 6IV'T 1€'65%'822'T £8'855'00€'T 000 s3|RJAUID SORIMBS 7D
LY"EB0'6L9 95'0€6'559 66'v¥1'299 09°'L8BSES TLSHPLT9 000 sonsuwing A sajepsie ‘g
00'859'89L0T 69'¥09°£00'6 SO'EES'TIT'E 9£'£79'656'8 £9°9V'SY0'L 000 53|BUOSIA SOPIARS Y
SE0Z6'PYO'EL TTP09'LZT'TT 86°ZVB'LIS'TT $2°900'9vL'ZT LT'189'SLT'6 00'0 (1+H+D+4+3+Q+2+@+y=T) opelanbia ON 035ED °T
yzoT £Z0T oz TZ0T ozoz 6102 (q) oadasuol
{sos3d)

4Q7 - s0s2183 ap sopey|nsay (p £ olewod




